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= all of the x-values that can go INTO theo e+E,019

function. Coc ol @O\?MM
e domam S
= all of the y-values you can get OUT of the (- 00, 0O)

function. Use the y-coordinate from the absolute
minimum/maximum value to help you determine the
range. ( lowest, Wf}h@S&>

*If the graph goes above the absolute minimum/
maximum value, then the range will bey > y-
coordinate.

*If the graph goes below the minimum/maximum
value, then the range will be y < y-coordinate. @




Ex 9= %72

Nz *x-intercept = the point (x, 0). You can find the
g"g; 3?54_%4value of x by plugging in zero for y and solving.
w=1| x=¢ The x-coordinate from the x-intercept is the REAL
() 0) S CY,0) ZERO of the polynomial.
*y-intercept - the point (0, y). You can find the value a\uf*‘lg
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i thf the graph
where it goes UP from left to right.

- the @f the graph
where it goes DOWN fromeft to right.




MAXIMUMS AND MINIMUMS — «*
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Relative Maximum/Minimum

*Relative Maximum - the highest point on a turn. ?@K

(ol Mey
*Relative Minimum - the lowest point on a turn. \JO\U@Q/
(ocal M
Y\O Q(Vb.\éx

Absolute Maximum/Minimum el T

*Absolute Maximum - the highest point of all the .
. 2€| MN’]
points on the graph. Abs

*Absolute Minimum - the lowest point of all the points
on the graph. @



EVEN/0DD FUNCTIONS
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*have symmetry about the y-axis. or e ¢

[If you folded the graph along the y-axis, the left
side and right side would overlap.]

*have symmetry about the origin.
ﬂyoﬁa%e %Cf’ &

[If you folded the graph along the x & y-axis, the
graph would overlap itself.] O
¢




END BEHAVIOR:

Describes what f(x) does if you could follow the graph
FOREVER!

as X — oo, f(x) >

as X — —oo, f(x) >

*If the arrow points up, use oo,

*If the arrow points down, use - oo,
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Domain

(0.5 ]

(0.686, 4.455)

"

Range

X-intercept

Zeros

Y-intercept

Intervals of Increase (-2 838. 0) (G2 o

Intervals of Decrease f N o z

Relative Maximum

Relative Minimum
Absolute Maximum | ”
Absolute Minimum
Even/Odd | ”

(-2 186, -7.393)

End Behavior N
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Domain (45, 12.25)

il

Range
X-intercept
Zeros
Y-intercept s

Intervals of Increase

Intervals of Decrease (1, 0) (8. 0)

Relative Maximum 0 5 o
Relative Minimum

Absolute Maximum

Absolute Minimum [

Even/Odd

End Behavior

®
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Domain \
(-2.144, 0)

Range t:

X-intercept

Zexos

Y-intercept i -

Intervals of Increase (0.913, -5957)

Intervals of Decrease

Relative Maximum i (0, -9)

Relative Minimum

Absolute Maximum (0.913

N’ -1z

Absolute Minimum

Even/Odd

End Behavior
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f(x)=x*+ x> —11x%* —9x + 18

= Use your calculator to graph.

= Then state the following:
= Domain

= Range

=Zeros

= Relative Max

= Relative Min

= Intervals of Increase
= Intervals of Decrease




